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Solving Trigonometric Equations

1

4 /1 .
sin~ 1 (E) versus  sinx =

- I = r
& * %"ﬁr)
()
onlﬂ has -3 )-H'n~ o
one answer et e
I.ﬂ'fim‘l'ely

answers |




trig-2013-01-09-245pm-solvingtrigequations.notebook

6.6 Handout
Solve for x € [0,2m).

2.2sinx =+/3 4.cosx —1 =0
2 2

sinx = V3
3

X=L 2w
51

6.2sinxcosx = +/3sinx
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Algebra Review

(x—2)x—-3)(x—-4) =0
X-220, X=3=0 , X~ 4=0
X=2,3,4

The Zero Product Property states:
If AB = 0,then A =0o0orB =0.

The Square Root Theorem states:

If [f(x)]? = ¢, then f(x) = ++/c




trig-2013-01-09-245pm-solvingtrigequations.notebook

6.2sinxcosx = v/3sinx —
QSI.I\XCOS)(—\,ES")X: O “O)Z‘Ib

°2 %
8.cos’x—1=0
COSzx — l (COSX‘D(C%X*D:O
COSX = 1—_’ COSX =\, (osX=~|

[X=o,\w7 |
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10. sec? x + vV3secx — V2 secx —/6 =0
W\/ N — N

5eCx secx+d—> J"(sgo(i.{‘B =0

(secx+03) (Seex -§2) = O

&
goecx=-J3 | secx=JZ Ly
Q O\a-l-sc-m« ls T )
N Q< I AL X = T ) %
£7.1863 ¥ 4 )
4.09067

14.2 cos?x +1 = —3cosx
2 cosx +3cosx+ | = O
Let w = cosx
2u+3ut = O

(2u+)(u+ D =0
Gramad§eer D=0

cosx = “2 cosx ="\

= 2T -
X E )4',137_' X~i
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18. 4 cos®> x = 3 cosx

4‘cossx -Acosx =0

cos Cos X = %:
X=Z 2_ COS)(:""\E%__

20.tan’x + tanx — V3 =3 tanx

Lenxstonx - Btanx-{3 < ©

tanx (tanx + 1 +> DE (-\cox\x&-) =6

(tanx+1) (tanx=V3 > O
tanx = - tanx =
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22.cos*x = cos? x

cos x-cos’x =€)

New Directions: Find ALL the solutions (not just in [0,27) )

2V3 a
62.sec3x —— =10 5€C6={?
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T V2 |
68. 2X —— )= —— = T —
COS(X 4) 2 Jz
e
xF=2omk | A&-F - ST 4 2k,
XX =Tl +2nk :3_,2. .\_Z'WK

[xzjzzﬂ C I 4k |

Homework (from 6.6 Handout)

#1-21 odd - finding solutions in [0,27)
#61-69 odd - finding all possible solutions (+2mk)
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